Welcome to the 2021 Reno Memorial Tournament!

In addition to club prizes there is also pari-mutuel betting available on the 2-Man and 4-Man teams (36 hole totals) as well as the 4-Man Scramble on Sunday. To place a bet, fill out the Betting Form with your name and picks and turn into Ken or Ed (with your cash) before 11:00am on Friday for the 2&4-Man and before 8:30am on Sunday for the Scramble.

New for this year included in the prize fund are Gross & Net Skins on Thursday, Friday & Saturday.

Thursday, Friday and Saturday rounds to be played under the following conditions:

- Play the ball down / Summer rules.
- Play from your designated colored tee markers set by the course.
- Make sure to record your putts **Thu-Fri-Sat** as that is also a prized event.
- All players must hole out (no gimmies) if you pick up you will be disqualified from the Individual competition and Putts for the round but still eligible for CPs and any team prizes.
- Competition played in accordance with USGA rules & local rules on the scorecards.
- The USGA Local Rule E-5 for Stroke and Distance will be in effect to speed up play: Local Rule E-5
 - "When a player's ball has not been found or is known or virtually certain to be out of bounds, the player may proceed as follows rather than proceeding under stroke and distance.
 - For **two penalty strokes**, the player may take relief by *dropping* the original ball or another ball in the *relief area*



Our club has a pace-of-play policy that states if your group finishes 30 or more minutes behind the group ahead, each player in your group may be assessed a 2-stroke penalty on the 18th hole at the discretion of the tournament committee.

Santa Clara Golf Club Multi-Tee Competition Rules and Handicap Chart

Our club has a multi-tee policy for our tournaments as our membership has indexes that range from the low single digits to over 30 and having everyone play from the same tees doesn't make sense. We offer a "Forward" set of tees at courses that have 3 sets of tees with official Men's slopes and ratings. In order to be eligible to play the forward tees, players must be 60+ years old **and** have an index of 16.0 or higher.

For this year's Reno Tournament, here's how it works:

Players under 60 years old can play either the designated "Regular" tees or the "Back" tees.

Players 60+ and with an index 16.0 or higher can elect to play any set of tees, "Forward", "Regular" or "Back".

Course handicaps are calculated using the following formula according to USGA rules:

Course Handicap = (Handicap Index * Tee Slope Rating / 113) + (Tee Course Rating – Course Par) *** This is then rounded to the nearest integer, e.g. an 18.48 would round to 18 and 18.51 would round to 19.

```
Example: Player A is 60 years old and has an index of 16.0 and we're playing Lakeridge "Back" tees:

Course handicap = (16.0 * 134 / 113) + (71.6 - 71) = 19.57 (Rounds to 20) "Regular" tees:

Course handicap = (16.0 * 130 / 113) + (68.3 - 71) = 15.70 (Rounds to 16) "Forward" tees:

Course handicap = (16.0 * 124 / 113) + (64.7 - 71) = 11.26 (Rounds to 11)
```

Below is a chart with everyone that is playing Reno this year and their calculated handicaps for each tee at the courses we're playing so you can see your options. For each player, if the column is green, they can play that set of tees and their "adjusted" handicap is listed.

If you elect to play from a set of tees other than the tees listed in the pairings below, you must inform the Tournament Scorekeeper(s) when turning in your scorecard so the scoresheet can be updated.

Split-tee Course Handicap Comparison Chart - Reno 2021

Course			_akeridg	е	Toiyabe			Eagle Valley-West		
Tee Color		Gold	Green	Black	Blue	White	Silver	Blue	White	Silver
Rating		72.0	69.0	65.2	72.1	68.7	63.8	69.9	68.1	65.6
Slope		135	128	119	132	123	117	125	118	111
Yardage		6715	6141	5472	6731	6165	5522	6421	5978	5323
Par 3 Avg Length		203.8	177.3	135.8	172.2	147.0	130.4	163.8	148.5	129.8
Par 4 Avg Length		385.5	351.7	318.9	395.0	360.4	319.1	364.2	332.6	290.9
Par 5 Avg Length		553.3	521.0	473.7	542.0	509.4	463.4	531.0	514.5	473.8
Name	Index	Нср	Нср	Нср	Нср	Нср	Нср	Нср	Нср	Нср
Romero, Edgar	2.9	4	1	-3	3	0	-5	1	-1	-4
Anderson, Dave	6.2	8	5	1	7	3	-2	5	3	0
Whitehead, Mike	7.7	10	7	2	9	5	0	6	4	1
Reilly, Dan	7.9	10	7	3	9	5	0	7	4	1
Ryan, Ed	8.1	11	7	3	10	6	0	7	5	2
Goodnough, Phil	8.9	12	8	4	10	6	1	8	5	2
Pereira, Dinis	9.7	13	9	4	11	7	2	9	6	3
Hunting, Russ	10.3	13	10	5	12	8	2	9	7	4
Lamboy, Al	10.3	13	10	5	12	8	2	9	7	4
Morgan, Richard	11.4	15	11	6	13	9	4	11	8	5
Comee, Ken	11.7	15	11	7	14	9	4	11	8	5
Tompkins, Harold	12.0	15	12	7	14	10	4	11	9	5
Gerard, Ken	12.5	16	12	7	15	10	5	12	9	6
Hegel, Rob	13.4	17	13	8	16	11	6	13	10	7
Beyer, Bill	13.8	17	14	9	16	12	6	13	11	7
Adam, Trey	14.0	18	14	9	16	12	6	13	11	7
Dukes, Shon	14.2	18	14	9	17	12	7	14	11	8
Lohafer, Phil	14.6	18	15	10	17	13	7	14	11	8
Wilson, Don	14.6	18	15	10	17	13	7	14	11	8
Cottengim, Tim	15.3	19	15	10	18	13	8	15	12	9
Malue, Mike	15.4	19	15	10	18	13	8	15	12	9
Wilkins, Jeff	15.6	20	16	11	18	14	8	15	12	9
Cottengim, Ryan	15.8	20	16	11	19	14	8	15	13	9
Haberman, Paul	16.0	20	16	11	19	14	8	16	13	9
Loveday, Jason	16.0	20	16	11	19	14	8	16	13	9
Hauck, Kevin	17.7	22	18	13	21	16	10	17	15	11
Williams, Duane	18.9	24	19	14	22	17	11	19	16	12
Angelo, Jerry	20.0	25	21	15	23	18	13	20	17	13
Roden, David	20.6	26	21	16	24	19	13	21	18	14
Lane, Tim	22.4	28	23	18	26	21	15	23	19	16
Maher, Tim	22.5	28	23	18	26	21	15	23	20	16
Sousa, James	22.5	28	23	18	26	21	15	23	20	16
Hensley, Larry	24.4	30	26	20	29	23	17	25	22	18
Duran, Miguel	24.7	31	26	20	29	24	17	25	22	18
Williams, Dink	26.3	32	28	22	31	25	19	27	24	19
Ignoffo, Phil	27.5	34	29	23	32	27	20	28	25	21
Williams, Houston	29.7	36	32	25	35	29	23	31	27	23
Morgan, David	30.2	37	32	26	35	30	23	31	28	23
Hunting, Jerry										
	41.0	50	44	37	48	41	34	43	39	34

Thursday (Lakeridge) Pairings

• Cha-Cha-Cha scoring: 1 Net score on Par 5s, 2 on Par 4s and 3 on Par 3s – computer will do the proper team scoring – just record individual gross scores and putts on each hole.

[- I	_		Team
Time	Name	Flight	Tees	Handicap	Handicap
8:45	Hunting, Russ	A	Gold	13	11
	Hunting, Jerry	В	Black	37	31
	Lohafer, Phil	А	Green	15	13
8:54	Roden, David	В	Black	16	14
	Hensley, Larry	В	Black	20	17
	Dukes, Shon	Α	Green	14	12
9:03	Morgan, Richard	А	Green	11	9
	Hegel, Rob	А	Green	13	11
	Williams, Dink	В	Black	22	19
	Morgan, David	В	Black	26	22
9:12	Romero, Edgar	Α	Gold	4	3
	Sousa, James	В	Green	23	20
	Pereira, Dinis	Α	Green	9	8
	Lane, Tim	В	Green	23	20
9:21	Williams, Houston	В	Black	25	21
	Williams, Theo	В	Green	48	41
	Williams, Duane	В	Green	19	16
9:30	Adam, Trey	Α	Green	14	12
	Loveday, Jason	В	Green	16	14
	Tompkins, Harold	Α	Green	12	10
	Cottengim, Tim	Α	Green	15	13
	<u> </u>				
9:39	Gerard, Ken	Α	Green	12	10
	Wilson, Don	Α	Green	15	13
	Ryan, Ed	А	Green	7	6
	Lamboy, Al	Α	Green	10	9

Friday (Toiyabe) Pairings

Time	Name	Eliabt	Tees	Handison	Team Handicap	2-Man Team	4-Man Team
10:30	Cottengim, Tim	Flight A	White	Handicap 13	11	8	16
10.30	Haberman, Paul	В	White	14	12	8	16
	Cottengim, Ryan	В	White	14	12	10	19
	Hauck, Kevin	В	White	16	14	10	19
	Hauck, Nevill	Ь	vviile	10	14	10	19
10:40	Goodnough, Phil	А	White	6	5	10	20
10.40	Duran, Miguel	В	White	24	20	10	20
	Wilkins, Jeff	В	White	14	12	8	15
	·	В	Silver	20	17	8	15
	Ignoffo, Phil	Ь	Silver	20	17	0	15
10:50	Adam, Trey	А	White	12	10	2	3
10.50	Loveday, Jason	В	White	14	12	2	3
	Morgan, Richard		White			4	7
	Hegel, Rob	A	White	9 11	8 9	4	7
	negel, Rob	A	vvriite	11	9	4	/
11:00	Roden, David	Α	Silver	13	11	5	10
11.00	Hensley, Larry	В	Silver	17	14	5	10
	Williams, Dink	В	Silver	19	16	4	8
	Morgan, David	В	Silver	23	20	4	8
	Morgan, David		Olivei	23	20		0
11:10	Gerard, Ken	Α	White	10	9	1	1
11110	Wilson, Don	A	White	13	11	1	1
	Whitehead, Mike	A	White	5	4	6	12
	Williams, Duane	В	White	17	14	6	12
	vvillario, Baario	+ -	VVIIICO	.,			12
11:20	Ryan, Ed	Α	White	6	5	1	2
	Lamboy, Al	Α	White	8	7	1	2
	Dukes, Shon	Α	White	12	10	5	9
	Angelo, Jerry	В	White	20	17	5	9
	i ingote, comp					-	
11:30	Hunting, Russ	Α	Blue	12	10	9	17
	Hunting, Jerry	В	Silver	34	29	9	17
	Williams, Houston	В	Silver	23	20	6	11
	Williams, Theo	В	White	44	37	6	11
	,						
11:40	Pereira, Dinis	Α	White	7	6	3	6
	Lane, Tim	В	White	21	18	3	6
	Reilly, Dan	Α	White	5	4	9	18
	Lohafer, Phil	Α	White	13	11	9	18
11:50	Tompkins, Harold	Α	White	10	9	2	4
	Malue, Mike	Α	White	13	11	2	4
	Beyer, Bill	Α	White	12	10	7	13
	Maher, Tim	В	White	21	18	7	13
	·						
12:00	Romero, Edgar	Α	Blue	3	3	3	5
	Sousa, James	В	White	21	18	3	5
	Anderson, Dave	Α	White	3	3	7	14
	Comee, Ken	Α	White	9	8	7	14
				_			

Saturday (Eagle Valley-West) Pairings

T '	Name	FULL	T	Han Page	Team	2-Man	4-Man
Time	Name	Flight	Tees	Handicap	Handicap	Team	Team
9:00	Gerard, Ken	A	White	9	8	1	1
	Wilson, Don	A	White	11	9	1	1
	Ryan, Ed	A	White	5	4	2	1
	Lamboy, Al	A	White	7	6	2	1
9:10	Adam, Trey	A	White	11	9	3	2
	Loveday, Jason	В	White	13	11	3	2
	Tompkins, Harold	А	White	9	8	4	2
	Malue, Mike	А	White	12	10	4	2
	, , , , , , , , , , , , , , , , , , , ,					-	_
9:20	Romero, Edgar	А	Blue	1	1	5	3
	Sousa, James	В	White	20	17	5	3
	Pereira, Dinis	А	White	6	5	6	3
	Lane, Tim	В	White	19	16	6	3
0.20	Margan Dishard		White	8	7	7	4
9:30	Morgan, Richard	A	White	_		7	4
	Hegel, Rob	A		10	9		4
	Williams, Dink	В	Silver	19	16	8	4
	Morgan, David	В	Silver	23	20	8	4
9:40	Dukes, Shon	Α	White	11	9	9	5
	Angelo, Jerry	В	White	17	14	9	5
	Roden, David	В	Silver	14	12	10	5
	Hensley, Larry	В	Silver	18	15	10	5
9:50	Williams, Houston	В	Silver	23	20	11	6
	Williams, Theo	В	White	42	36	11	6
	Whitehead, Mike	Α	White	4	3	12	6
	Williams, Duane	В	White	16	14	12	6
10:00	Beyer, Bill	A	White	11	9	13	7
10.00	Maher, Tim	В	White	20	17	13	7
	Anderson, Dave		White	3	3	14	7
	Comee, Ken	A A	White	8	7	14	7
	Coniee, Ken	A	vvriite	0	/	14	1
10:10	Wilkins, Jeff	А	White	12	10	15	8
	Ignoffo, Phil	В	Silver	21	18	15	8
	Cottengim, Tim	А	White	12	10	16	8
	Haberman, Paul	В	White	13	11	16	8
10:20	Hunting, Russ	А	Blue	9	8	17	9
	Hunting, Jerry	В	Silver	34	29	17	9
	Reilly, Dan	А	White	4	3	18	9
	Lohafer, Phil	A	White	11	9	18	9
10:30	Cottengim, Ryan	В	White	13	11	19	10
10.00	Hauck, Kevin	В	White	15	13	19	10
	Goodnough, Phil	A	White	5	4	20	10
	Duran, Miguel	В	White	22	19	20	10

Scramble Rules for Sunday at Wolf Run

- Minimum of 4 drives per man and play from the designated tees listed below.

- Mark selected ball and play from within 3 feet from the mark, no nearer the hole.

 On the greens, mark selected ball and play from within 3 inches, no nearer the hole.

 If the selected shot is to be played from a hazard (including a sand trap), the first ball must be played as it lies; the other 3 balls may be placed (smooth sand trap between shots).
- In the event of a tie, scorecards will be backed-up from the 18th hole.
- Players may tap-in even if the team has more attempts to make a putt to speed up play. Lowest score shall be recorded.
- 3-Man teams will alternate holes taking 2 attempts at each shot and will have minimum of 5 drives per man.

Time	Name	Tees	Index	Time	Name	Tees	Index
7:30	Romero, Edgar	White	2.9	8:15	Goodnough, Phil	White	8.9
	Cottengim, Tim	White	15.3		Beyer, Bill	White	13.8
	Malue, Mike	White	15.4		Hauck, Kevin	White	17.7
	Williams, Theo	White	43.8		Duran, Miguel	White	22.5
7:39	Anderson, Dave	White	6.2	8:24	Pereira, Dinis	White	9.7
	Wilson, Don	White	14.6		Hegel, Rob	White	13.4
	Wilkins, Jeff	White	15.6		Williams, Duane	White	18.9
	Morgan, David	Silver	30.2		Hensley, Larry	Silver	24.4
7:48	Whitehead, Mike	White	7.7	8:33	Hunting, Russ	White	10.3
	Lohafer, Phil	White	14.6		Gerard, Ken	White	12.5
	Cottengim, Ryan	White	15.8		Angelo, Jerry	White	20.0
	Williams, Houston	Silver	29.7		Hunting, Jerry	Silver	41.0
7:57	Reilly, Dan	White	7.9	8:42	Lamboy, Al	White	10.3
	Dukes, Shon	White	14.2		Tompkins, Harold	White	12.0
	Loveday, Jason	White	16.0		Roden, David	Silver	20.6
	Ignoffo, Phil	Silver	27.5		Maher, Tim	White	22.5
8:06	Ryan, Ed	White	8.1	8:51	Morgan, Richard	White	11.4
	Adam, Trey	White	14.0		Comee, Ken	White	11.7
	Haberman, Paul	White	16.0		Lane, Tim	White	22.4
	Williams, Dink	Silver	26.3		Sousa, James	White	22.5

RENO 2021 PAYOUTS

DESCRIPTION	AMOUNT	PLAYERS	TOTAL
Lakeridge			
Cha-Cha-Cha			
1st Place	\$75.00	4	\$300.00
2nd Place	\$50.00	4	\$200.00
3rd Place	\$25.00	4	\$100.00
Individual - A & B Flights			
1st Place	\$50.00	2	\$100.00
2nd Place	\$40.00	2	\$80.00
3rd Place	\$30.00	2	\$60.00
4th Place	\$20.00	2	\$40.00
5th Place	\$10.00	2	\$20.00
Par 3 - Closest to the Pins	\$50.00	4	\$200.00
Low Putts			
1st Place	\$30.00	1	\$30.00
2nd Place	\$20.00	1	\$20.00
Skins	¢40.00	20	<u></u>
TOTAL LAKERIDGE PAYOUT	\$10.00 \$50.00	<u>28</u> 27	\$280.00
TOTAL LAKERIDGE PATOUT	\$50.00		\$1,430.00
Toiyabe			
2-Man Best Ball			
1st Place	\$100.00	2	\$200.00
2nd Place	\$75.00	2	\$150.00
3rd Place	\$60.00	2	\$120.00
4th Place	\$50.00	2	\$100.00
5th Place	\$40.00	2	\$80.00
6th Place	\$30.00	2	\$60.00
7th Place	\$20.00	2	\$40.00
8th Place	\$10.00	2	\$20.00
Individual - A & B Flights	ψ.σ.σσ	_	Ψ20.00
1st Place	\$100.00	2	\$200.00
2nd Place	\$75.00	2	\$150.00
3rd Place	\$60.00	2	\$120.00
4th Place	\$50.00	2	\$100.00
5th Place	\$40.00	2	\$80.00
6th Place	\$30.00	2	\$60.00
7th Place	\$20.00	2	\$40.00
8th Place	\$10.00	2	\$20.00
Par 3 - Closest to the Pins	\$50.00	5	\$250.00

Low Putts			
1st Place	\$50.00	1	\$50.00
2nd Place	\$25.00	1	\$25.00
Skins			
	\$10.00	40	\$400.00
TOTAL TOIYABE PAYOUT			\$2,265.00
Eagle Valley			
•			
2-Man Best Ball	¢ 400 00	2	#200 00
1st Place	\$100.00	2	\$200.00
2nd Place	\$75.00	2	\$150.00
3rd Place	\$60.00	2	\$120.00
4th Place	\$50.00	2	\$100.00
5th Place	\$40.00	2	\$80.00
6th Place	\$30.00	2	\$60.00
7th Place	\$20.00	2	\$40.00
8th Place	\$10.00	2	\$20.00
Individual - A & B Flights			
1st Place	\$100.00	2	\$200.00
2nd Place	\$75.00	2	\$150.00
3rd Place	\$60.00	2	\$120.00
4th Place	\$50.00	2	\$100.00
5th Place	\$40.00	2	\$80.00
6th Place	\$30.00	2	\$60.00
7th Place	\$20.00	2	\$40.00
8th Place	\$10.00	2	\$20.00
Par 3 - Closest to the Pins	\$50.00	4	\$200.00
Low Putts	*	·	4
1st Place	\$50.00	1	\$50.00
2nd Place	\$25.00	1	\$25.00
Skins	Ψ20.00	•	Ψ20.00
	\$10.00	40	\$400.00
TOTAL EAGLE VALLEY PAYOUT	Ψ10.00	40	\$2,215.00
TOTAL LAGEL VALLET PATOUT			Ψ 2,213.00
Wolf Run			
4-Man Scramble			
1st Place	\$100.00	4	\$400.00
2nd Place	\$80.00	4	\$320.00
3rd Place	\$60.00	4	\$240.00
4th Place	\$40.00	4	\$160.00
5th Place	\$20.00	4	\$80.00
TOTAL WOLF RUN PAYOUT	Ŧ -	-	\$1,200.00
COLLECTED	\$140.00	40	\$5,680.00
	<u> </u>		+++++++++++++++++++++++++++++++++++++
GRAND TOTAL			\$7,110.00